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Ideals for irreducible componentfbf Xpar

It = (w® +u® = 2u 4 1)

* 1 irreducible components of dim¢ = 0, with total 60 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(u4+u®+... —2u+1)

(i) Arc colorings

o= (1)

a7 =

wl —3ut +2u?+1
ub — 2ut + u?
ul® — 8ul” + 26ul® — 40u'3 + 19ut!t + 24u® — 30u” + 9u

ul® — 7ul” + 206t — 27ut3 + 11wt 4+ 13u° — 14u” + 3u® +u

wl® — 6uld + 14wt — 1442 + 207 + 6u® — 4u® + 2u

—ul7 4+ 7ut® — 19013 4+ 2201 — 300 — 14u” + 6ud + 2ud +u
u?® — 11w+ 4wl +1

7U30 + 12u28 4 8u4 _ u2

u®® — 22053 + - — 4ud + 2u
ag = \ 4% —21uS3 + - +4ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u’® — 92u%% + ... +28u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7,C11 w0+ 3w+ 2u 1
C2,C4 - —30u + 53
c3,C8,Cy ub P 4 3 1
Cs5,C6,C12 4 2u+1
c10 w0 — TuP - 418u + 121




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C7,C11 y60+61y59+--~—34y+1
€2, Ca y% — 43y° + - + 30370y + 2809
C3, €8, Co Y+ 49y + - 4+ 6y + 1

C5, C6, C12 Y0 — 4Ty ey +1

e10 y60 o 19y59 + -+ - + 581526y + 14641




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/=1C8S) Cusp shape
uw=0.952891 + 0.11459171 —1.63134 — 3.970891 0.+ 3.956931
u= 0.952891 — 0.1145911 —1.63134 + 3.970891 0. — 3.956931
u = —0.913578 2.26750 4.34250
u = —0.046410 + 0.8790871 11.14760 + 5.091221 7.88188 — 3.545551
u = —0.046410 — 0.8790871 11.14760 — 5.091221 7.88188 + 3.545551
u = 0.036027 + 0.879552] 7.90629 — 0.727351 4.83751 — 0.285151
u = 0.036027 — 0.8795521 7.90629 + 0.727351 4.83751 4 0.285151
u = 0.054075 4 0.8776051 6.64512 — 9.388381 3.45721 4 5.821341
u = 0.054075 — 0.8776057 6.64512 4 9.388381 3.45721 — 5.821341
u=0.014493 + 0.848975] 5.96433 — 1.644611 4.63229 + 3.995211
u=0.014493 — 0.848975] 5.96433 + 1.644611 4.63229 — 3.995217
u = —0.039777 4- 0.8292121 0.36934 + 3.432601 —0.37711 — 3.475401
u = —0.039777 — 0.8292121 0.36934 — 3.432607 —0.37711 + 3.475401
u= 1.261800 + 0.0167431 —2.82969 — 0.004731 0
u= 1.261800 — 0.0167431 —2.82969 + 0.004731 0
u = —1.277440 4 0.1236541 —4.34670 + 2.462871 0
u = —1.277440 — 0.1236541 —4.34670 — 2.462871 0
u = —1.237020 + 0.3665241 —3.32294 + 0.869561 0
u = —1.237020 — 0.3665241 —3.32294 — 0.869561 0
u = —1.277970 4 0.1981821 —4.03371 + 1.651801 0
u = —1.277970 — 0.1981821 —4.03371 — 1.651801 0
u= 1.226230 + 0.4241291 3.02962 + 4.731041 0
u= 1.226230 — 0.4241291 3.02962 — 4.731041 0
u = —1.234400 + 0.4237871 7.47969 — 0.430241 0
u = —1.234400 — 0.4237871 7.47969 + 0.430241 0
u = 1.244470 4 0.4220861 4.17054 — 3.929451 0
u=1.244470 — 0.4220861 4.17054 4 3.929451 0
u=1.260890 + 0.3893421 2.10105 — 2.799051 0
u= 1.260890 — 0.3893421 2.10105 + 2.799051 0
u = —1.323890 + 0.0430801 —7.13062 — 3.257941 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
= —1.323890 — 0.0430801 —7.13062 4 3.257941 0
= 1.313090 4 0.1885781 —0.90503 — 5.426321 0
= 1.313090 — 0.1885781 —0.90503 + 5.426321 0
= 1.325800 + 0.1216101 —10.07350 — 3.065201 0
= 1.325800 — 0.1216101 —10.07350 4 3.065201 0
= —1.284320 + 0.3889651 1.92305 + 6.088341 0
= —1.284320 — 0.3889651 1.92305 — 6.088341 0
= —1.329320 4 0.1835771 —5.43159 4 9.362071 0
= —1.329320 — 0.1835771 —5.43159 — 9.362071 0
= 1.300190 + 0.3749131 —3.81244 — 7.765001 0
= 1.300190 — 0.3749131 —3.81244 4 7.765001 0
= —1.303200 + 0.4073321 3.73023 4 5.337311 0
= —1.303200 — 0.4073321 3.73023 — 5.337311 0
= 1.310460 + 0.4051531 6.91172 — 9.693081 0
= 1.310460 — 0.4051531 6.91172 4 9.693081 0
= —1.315300 + 0.4027541 2.3668 + 13.97761 0
= —1.315300 — 0.4027541 2.3668 — 13.97761 0

0.273216 + 0.5467061

—0.44946 — 6.817061

1.30973 + 8.198361

0.273216 — 0.546706.1

—0.44946 + 6.817061

1.30973 — 8.198361

0.576906 + 0.1646371

—1.68593 + 3.813091

—2.04506 — 2.173431

0.576906 — 0.1646371

—1.68593 — 3.813091

—2.04506 + 2.173431

—0.236153 + 0.5498921

3.88620 + 2.837931

6.61988 — 5.742671

—0.236153 — 0.5498921

3.88620 — 2.837931

6.61988 + 5.742671

0.181913 + 0.5652971

0.428112 + 1.0501901

3.41996 + 1.386551

0.181913 — 0.5652971

0.428112 — 1.0501907

3.41996 — 1.386551

= —0.591588

2.32006

2.71690

—0.345085 +- 0.3814131

—4.98300 + 1.343821

—4.86472 — 5.063271

—0.345085 — 0.3814131

—4.98300 — 1.343821

—4.86472 + 5.063271

0.170422 + 0.3371571

0.021675 — 0.7737831

0.67824 + 8.942961

u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u =
u
u
u
u
u
u
u
u
u
u
u
u
u
u

0.170422 — 0.3371571

0.021675 + 0.7737831

0.67824 — 8.942961




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C7,C11 w0+ 30 4+ 2u+1
Ca2,C4 u® — w4 — 30u + 53
€3,C8,Cy w0 4w 4 3 1
c5,Cg, C12 w0 - 2t 1
€10 u® — Tu? 4 4+ 418u + 121




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,C7,C11 y60+61y59+~~734y+1
Ca,Ca y%0 — 43y% + - + 30370y + 2809
c3,Cs, Co Y0 +499%° + ... 46y +1
Cs,C6,C12 Y0 — 47y 6y 41
€10 y%0 —19y°° + .- + 581526y + 14641




